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beer.d
hclust (*, "average”)
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beer.d2
hclust (*, "median”)
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hclust (*, "ward.D")
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R KN

kmeans(X, k, nstart=5, iter.max=10,
algorithm=c(-Hartigan-Wong°)
Xz AnMVY\NA
kz NAMM D
nstart-> 0 ~ ~“AnM Y
iter.max z AN

algorithm z T4 NAM

AnM MY A
X = as.matrix(beer)

result = kmeans(x,5)
result

R R Console o[BS

| A
> result

E-means clustering with S5 clusters of sizes 4, 3, 2, 1, 1

Cluster means:

a0 ¥l &0

1 2.750000 3.750000 2.500000
2 1.666667
3 3.50000
4 ) 5.000000
- 2.00000
Clustering vector:
S A e e 2E —EHD ZEA
5 2 3 3
JLETLEILY AR HEZL Frihyd
4 1 X i
DUFPHE NIy JSROAH -
I 2 P
Within cluster sum of squares by cluster:
(1] 2.5 2.0 1.0 0.0 0.0
(between S5 / total S5 = BE4.9 %)
Available components:
[1] "cluster™ "centers" "cotss™ "withinss" "tot.withinss"

[6] "beatweenss" "size" "iter" vifaulc"
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gakuryoku.eigen$value
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plot(gakuryoku.eigen$value, type="b") ;
abline(h=1, col="red"|Ilty=2)

R Graphics: Device 2 (ACTIVE) = ElE%
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A4

result = factanal(gakuryoku, factor=2)

result

= R Console

» result = factanal (gakuryoku, factors=2, rotation="promax")
¥ Fesult

call:

factanal (x = gakuryoku, factors = 2, rotation = "promax")

Unigquenesses:
mEOIAAS  HHE ®WE ¥RE wE
0.24% 0.125 0.25%0 0.174 0.255 0.335

Loadings:
Factorl Factor2
mEE 0.823
IRH3T 0.947
et 0.869

il 0.938
Y 0.865
Hhs 0.762

Factorl Factor2
55 loadings 2.341 2.21%
Proportion Var 0.390 0.370
Cumulative Var 0.390 0.760

Factor Correlations:
Factorl Factor2

Factorl 1.000 -0.536

Factor2 -0.53¢ 1.000

Test of the hypothesis that 2 factors are sufficient.

The chi sguare statistic is 66.57 on 4 degrees of freedom.
The p-value is 1.2e-13
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A/ = Ha—k— 0.60 1.00 1.25
433 = BETF 0.50 0.80 1.60
Fa—kt— = BETF 0.45 0.80 1.78

Ad” 1n41°~
A (LHS : Left Hand Side)
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itemFrequencyPlot(Groceries)
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= R Console L= B s
> itemFreguencyPlot (Groceries)
> |
R R Graphics: Device 2 (ACTIVE) = Ec >
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